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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

. This paper consists of seventy five multiple-choice type of

questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.
Example : (&)
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination.

(i)

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
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POLITICAL SCIENCE
PAPER - 11

All questions are compulsory.

The word ‘theory’, derived from the

Greek word “Theoria’ means

(A) A well organized political system

(B) A well focused mental look

(C) A well articulated economic
structure

(D) A system of
arrangement

physical

Who, among the following, is not
associated with decline of political
theory ?

(A) Peter Laslett

(B) David Easton

(C) Jean Blondel

(D) Alfred Cobban

Who said ‘negative liberty is superior
to positive liberty’ ?

(A) J.S. Mmill

(B) Isaiah Berlin

(C) T.H.Green

(D) Ernest Barker

Which one among the following

statements is true ?

(A) Social Justice violates the
principles of equality.

(B) Social Justice is derived from
moral reasonableness.

(C) Social justice is a negation of
justice

(D) Social justice is an instrument of
political manipulation.

Which one among the following was

the first mass movement Mao led ?

(A) The Cultural Revolution

(B) The Great Leap Forward

(C) Let hundred flowers blossom and
hundred schools of thought
contend.

(D) None of the above
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10.

11.

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

The term “Leninism’ was coined by
(A) Trotsky (B) Stalin
(C) Marx (D) Mao

Who is the author of the book The
Good Boatman ?

(A) Erikson

(B) Rajmohan Gandhi

(C©) Romain Rolland

(D) Noema

Which one among the following

statements is true ?

(A) Plato’s Republic is a book on
ethics

(B) Itisabook on politics

(C) Itis both on ethics and politics

(D) Itisabook on education

Which one among the following is not

written by M.N. Roy ?

(A) The Future of Indian Politics

(B) Gandhism, Nationalism and
Socialism

(C) New Humanism

(D) Nationalism, Rationality and
Revolution

Who among the following has
compared fortune with a woman ?

(A) M.N. Roy

(B) Rousseau

(C) Hobbes

(D) Machiavelli

Which one among the following is not
a work about alienation ?

(A) Paris Manuscripts

(B) Theses on Feuerbach

(C) Poverty of Philosophy

(D) The German Ideology
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6.

10.

11.
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12.

13.

14.

15.

General Will means

(A) Actual Will

(B) Majority Will

(C) Sum total of Wills
(D) Real Will

Assertion (A) : Social Contract established
a sovereign Government.

Reason (R) : Citizens do have an
absolute obligation to obey all
laws or accept any form of
Government.

In the context of the two statements,

which one of the following is correct ?

(A) Both (A) and (R) are true and (R)
is correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match the List — I with List — Il and
select the correct answer from the
codes given below with reference to
Aristotle and Plato :

List-1 List— 11
(Pure form) (Degenerated
form)
a. Monarchy i. Democracy
b. Aristocracy ii. Tyranny
c. Polity iii. Oligarchy
d. Ideal State iv. Timocracy
(First stage)
Codes :
a b c d
(A ivoid i
B) i i i iv
(C) i i v
D) i ivo i i
What is the chronological correct
sequence of the following books ?
i. Richard In  Search of
Attenborough  Gandhi.
ii. Louis Fisher  The Life of
Mahatma Gandhi
iii. E.H. Erikson  Gandhi’s Truth

iv. J. Eaton Gandhi : Fighter
Without a Sword
Select the correct answer from the

codes given below :

Codes :
(A) v, i, i, i (B) iii, i, ii, iv
(C) i, v, iii, ii (D) i, ii, iv, iii
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16.

17.

18.

19.

Match List — | with List — Il and select
the correct answer from the codes

given below :
List— I List—11
(System (System)
Theorists)
1. Bertallanfy a. a set of elements
standing in
interaction

2. Hall and b. awhole which

Fagen is compounded
of many parts
3. Easton c. a set of objects
together  with
relationships
between the
objects and their
attributes
4. Colin d. asetof
Cherry interactions
Codes :
a b c d
A 1 4 2 3
B) 2 3 1 4
© 4 1 2 3
o 3 2 4 1

Who among the following presents a
‘flow model’ of political system ?

(A) Gabriel Almond

(B) David Easton

(C) Morton Kaplan

(D) Oran Young

Almond borrowed most of the
terminology of his approach from

(A) Robert K. Merton

(B) Talcott Parsons

(C) Malinowski

(D) Arthur Bentley

Who among the following attached
great importance to a balance between
the principles of equality and capacity
in political development ?

(A) Lucian Pye

(B) Huntington

(C) Fred Riggs

(D) Danil Lerner
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16.

17.

18.

19.

ALl B GA-I F W gafera w3

T ST U e T Wel ST B 9GT I
-1 -1

gt fagrrar) (gt

1. SEHRE a. srafeard
3 oA el
I e

2. EAUSHSH b, THYOSH
CECaic
TS 9 S
3

3. 3&=A c. a&I H UH
g qr
TR 3T
ST O
o oy

4. HeAT = d. orfRar @
TIE

WS

a b c d

A 1 4 2 3

® 2 3 1 4

C 4 1 2 3

D) 3 2 4 1

Feffed & 9 fha Tomitae e
“TeAl Higer” T fepalm € 2

(A) TEEA FAHS

(B) =fae s

(C) =T U

(D) e g

METHE F 37 SR H AR
IISTee e o & 2
(A) < &, T
(C) wferiaent

(B) <IoThie UEH
(D) MR St

Fefefed 5§ e ToHifds fawa o
THAT 31X AT o fogTai & dr T=qer
I 2T e fgar € 2

(A) TR TE (B) e

(C) wsfrw (D) =t &R
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20.

21.

22,

23.

Who among the following is associated
with the “will and capacity” approach
to the study of political development ?

(A) Lucian Pye
(B) Organski
(C) Halpern

(D) David Apter

Who among the following has
connected cultures with civilizations ?

(A) Almond and Verba
(B) Huntington

(C) Lucian Pye

(D) Edward Shils

“We are under the Constitution but the
Constitution is what the judges say it
is”. Which of the following countries
can this be applicable to ?

1. India

2.  America

3. Switzerland
4.  Australia

Select the correct answer from the
codes given below :

Codes:
(A) land3 (B) land2
(©) 2and3 (D) 3and4

Who among the following has
associated the origins of political
parties with three theories -
institutional theories, historical crisis
theories and development theories ?

(A) LaPalombara and Myron Weiner
(B) Peter K. Merkl

(C) Harry Eckstein

(D) Jean Blondel
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24. Which of the following statements are

25.

26.

not correct ?

1.  The Swiss Federal Tribunal has
the power to declare
unconstitutional a law passed by
the Federal Legislature.

2. The Communist Party is banned
in the U.S.A.

3. The Constitution of India on the
date of its commencement did
have a provision that the advice
of the Council of Ministers
would be binding on the
President.

4.  Tories in England are known as
Conservatives.

Select the correct answer from the

codes given below :

Codes :
(A) land2 (B) 2and3
(C) 2and4 (D) land3

“There can be no comparison between
the positions of number one and
numbers two, three or four.” Who said
this about the British Prime Minister ?
(A) Harold Laski

(B) Margaret Thatcher

(C) Harold Wilson

(D) Winston Churchill

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) : Once the leaders reach
the pinnacle of power, nothing
can bring them down.

Reason (R) : The majority of human
beings, according to Michels, are
apathetic, indolent and slavish.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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20.

21.

22,

23.

ffefaa & @ & ToHiias fawa &
3T % AT “Hehed 3R e (foet Ue
HUTFen) & a1 ° To5 & 9

(A) Tfea T

(B) AT

(C) ®omH

(D) sfae T=x

frafafes @ @ oo d=pfaar &
AT % WY e ¢ 2

(A) TETHE R F&lr

(B) @&

(C) wfea T

(D) TueHs Rrew
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<

4. Ffera
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(A) 133
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I H A T kW Sier § 2
3R T fasT

(A) T UETERT 3T HIE AR

(B) X%, e

(C) & U=

(D) STF s
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24, ToAfcifEd 5 § ®F ¥ e T el

25.

26.
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27,

28.

29.

30.

Which of the following pairs are not
correctly matched ?

1. Pareto Circulation of elites

2. Mosca Theory of the masses
3. Michels  Concept of mass mind
4. Gasset Political formula

Select the correct answer from the
codes given below :

Codes :
(A) 2and4 (B) land2
(C) 3and4 (D) 2and3

Which of the following countries have
dual citizenship — National citizenship
and State citizenship ?

(A) Indiaand U.S.A.

(B) India and Switzerland

(C) Switzerland and U.S.A.

(D) U.S.A.and U.K.

Which of the following statements are

not correct ?

1. The U.S. President can seek
election to the office of President
for any number of times.

2. The President of India has been
sending messages to Parliament.

3. Two-thirds members of Rajya
Sabha retire every two years.

4. The residuary powers rest with
the States in the United States of
America.

Select the correct answer from the

codes given below :

Codes :
(A) 1,2and 4 (B) 1,2and3
(C) 2,3and4 (D) 1,3and4

The elite theory was first started in

(A) the United States of America

(B) the United Kingdom

(C) Central and Western European
Countries

(D) Australia
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31.

32.

33.

34.

35.

The Preamble of the Constitution of
India enshrines the ideals of liberty,
equality and fraternity — ideals mainly
inspired by the

(A) Russian Revolution

(B) Irish Revolution

(C) French Revolution

(D) Cultural Revolution

The name of a candidate for the Office

of President of India is proposed by

(A) any five citizens of India

(B) any five Members of the
Parliament

(C) any fifty Members of the
Electoral College

(D) any ten members of the Electoral
College

Which of the following Articles were
not part of the original Constitution of
India ?
(i) Art.52A (i) Art. 51A
(iii) Art. 14 (iv) Art. 300A
Select the correct answer from the
codes given below :

(B) (i) and (iii)

(A) (i) and (ii)

(C) (ii)and (iii)) (D) (ii) and (iv)
Who among the following former
Presidents of India kept the ‘Indian
Post Office Amendment  Bill’
pending ?

(A) Zakir Hussain

(B) V.V.Giri

(C) Zail Singh

(D) Dr. Shanker Dayal Sharma

Who said ‘All  Communalism is
harmful’ ? The logic of minority
Communalism is separatism, and
majority communalism culminates in
Fascism ?

(A) Bhikhu Parekh

(B) T.N. Madan

(C) Bipin Chandra

(D) Ashish Nandy
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27.

28.

29.

30.

fefefad & @ i d I8 %7 &l It @
fopar T & 9
1. W
2. T
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4, e HECIIREA ]
TS IS H Tal ST BN I HITSTT :
He

(A) 2 34

(B) 132

(C) 334

(D) 233

frefafed & ¥ 69 3o =t o ¢ ¢ Sl
AT, T ANTRERAT, T AR 2
(A) 4R 3R JTAT,

(B) WRA 3R faesRete

(C) Racseis R JUaT,

(D) JUAT R I,

fefeiEad & 9 i 9 21 319 § 2

1. o & Teguld, Tgufd ug & o
3T IR AT g bl & |

2. 9RA % UL HEE G 9T
W@AE |

3. TSF 9T % SI-IdeTs We B Al a9 H
YT & S €

4, MR § I@RTe Wil T H
fafed &t & |

T 13T 7T i ¥ Tel 3T H TI7 A

HIE

(A) 1,234

(B) 1,233

(C) 2,334

(D) 1,334

ST THgT=T v Far ST g3T 2
(A) e

(B) FTEes femreH

(C) Tzot 3iX A T 3o
(D) sirgforan

AT T T
S-fag
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31.

32.

33.

34.

35.

ORAE WU Sl WEeET § SIRAT,
AT T 9EER % ARy yqeid € |
! IR e T faedt & 2

(A) IR oI

(B) AR hif

(C) whifat skt

(D) WRITH Shi=d

TR & LA o I o fo1d Fearsit T A
I AT BT & 2

(A) RA % HIE o 9 AN |

(B) UES H HIE W U T |

(C) TaT= Hietst & g of Targ T8 |
(D) FaTeh Hies & his 39 T8 |

frefafed § @ &9 91 =T 9T &
ot Wiere= o1 3197 &l & 2

(i) == 5H2T (i) FTBE5IT
(i) sg=T 14  (iv) 3FT=%300T
e < el | WEl S A AT B
(A) (i) =R (ii)

(B) (i) =R (iii)

(€) (i) 3 (ii)

(D) (i) & (iv)

IRA & FAfarad qd T § 9 foea
“URAE Sh-ER WY foe” @ At
QT ?

(A) HT o

(B) drdr fifik

(C) < faw

(D) . SIS IHT

foa @1 € T ot @ gmmiEsar
THPNE & 2 NCUHEIH TGl H
TH gIEAT €, AR TS AR
(A) Ty i
(B) & .wA. WEH
(C) o= ==
(D)  3Tem =gy
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36.

37.

38.

39.

40.

Who wrote the book, “Democracy and

Discontent” ?
(A) James Manor (B) Atul Kohli
(C) ZoyaHasan (D) MSA Rao

Who emphasized the emergence of “a
market polity” in India ?

(A) Stanley A. Kochanek

(B) James Manor

(C) Morris-Jones

(D) Paul Brass

Who described the nature of Indian
State as ‘incremental democratic
modernization” ?

(A) Morris John

(B) Rajni Kothari

(C) Francine Frankel

(D) Susan and Lloyd Rudolph

An alliance of national elites and the
entrepreneurial class as a basis of
development at the Centre does not
preclude re-distributive concessions
automatically.” Who said ?

(A) Partha Chatterjee

(B) Atul Kohli

(C) Yogendra Yadav

(D) Paul Brass

Match List — | with List — Il and
choose the correct answer from the
codes given below :

List-1 List— 11
Books Authors

a. Language, i. Jagdish
Religion and Bhagwati
Politics

b. Party ii. Paul Brass
building in a
New Nation

c. The Painful  iii. Myron
Transition : Weiner
Bourgeois
Democracy
in India

d. India in iv. Achin
Transition Vanaik
Freeing the
Economy

Codes:
a b c d

(A i i v i

(B) i i i iv

<© i iv i i

(D) iv i i

Paper-I111

10

41.

42.

43.

44,

Identify the correct sequence in
which the following Committees
were appointed. Use the code given
below :

I Balwant Rai Mehta Committee
ii.  L.M. Singhvi Committee

iii. G.V.K. Rao Committee

iv.  Ashok Mehta Committee
Codes :

(A)
(B)
©)
(D)

i, iii, i, iv
i, ii, iv, iii
iv, i, i, iii

Assertion (A) : Political parties in
India have expanded their reach
but their legitimacy has been
deeply eroded.

Reason (R) : The consolidation of the

party system at the State level

cannot be aggregated at the

National level.

Both (A) and (R) are true and (R)

is the correct explanation of (A).

Both (A) and (R) are true and (R)

is not the correct explanation of

(A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(A)

(B)

(€)
(D)

Which among the following Acrticles of
the Constitution of India has ensured
through legislation the participation of
workers in management ?

(A) Article 42

(B) Article 43

(C) Article 43A

(D) Article 49A

Who among the following termed
Art. 356 as a “safety valve” ?

(A) Dr. Rajendra Prasad

(B) Dr. B.R. Ambedkar

(C) Jawaharlal Nehru

(D) Sardar Vallabhbhai Patel

D-02-12



36. “SHGHHl WOE fewhAde” YXAH I ohEh
HF§ 2
(A) = ER (B) 3Tt Shieat
(C) <hameEa (D) THTETIE
37. 9RA H “fquuF TSadS’ & SR W R
o feam o 2
(A) T T DEHES
(B) =@ BT
(C) HIRE-Sg
(D) Uit ST
38. URA™E T % WET H “ghy FE
TATBAATHSE DB THT &
(A) HiRg S A
(B) IS PR A
(C) ThahiT SheoheT o
(D) T U AAaS TSe® =
39. U MM 3R & H g & MR
wWEy SEH gt ot SEeiar g feeRor
g Ye H W HuY T WA § | TE
ToherehT oM € 2
(A) g s (B) 37T Higet
(C) #r=ama (D) ter o
40. g1 B G-Il F G GHerT B AR
T 3T 7T i T TE I H AT
-1 -1
(I¥T) (TTE)
a. oA, eS| Q. SRR et
Ug uifeiiead
b. Uifafcen g T i, U o9
= v
C. T UHA JERE i, ARRA dFR
ey AT
= St
d. sfear s o@eE : iv. 3 A EE
TRIT T SehAT
B
a b c d
(A i i v
(B) Qi i i v
©) i iv i i
O) v i Qi i
D-02-12 11

41.

42.

43.

44,

TeAteiad |t & e 1 F&l 3THA
Famd | e iU 7T RiE H I

i, doiad T HEar |
ii.  Ueluw.faEet |imta

iii. ST, T At

iv. 79l Hear 9fra
A
(A)
(B)
(©)
(D)

I, v, iii, i
i, iii, i, iv
i, i, iv, iii
iv, 1, ii, iii

AfFUT (A) : YR T SIS Sett A
T UET Tl & ¥, W] SR e
i T & Tl § |

FROT(R) : IWHT TR W A

(AT U FIRT F GHFHA h AR

TR T Gehierd el oA ST Fehall € |

(A) 3R (R) THI T €, 3 (R),

(A) Tl el A T |

(A) @ (R) T & T (R),

(A) T TE AT TEE |

(A) T &, W (R) T & |

(A) 3TA ¢, W (R) TAE |

(A)
(B)

(©)
(D)

IR & WIS B AT ST T
T T o HTeAH | HHATRET bt WiqerTar

gFfeed e & 2
(A) 3T=T 42
(B) 3T=T 43
(C) 31T 43A
(D) 3T 49A

frafafea § @ e o =g 356 &
"G FE FET € 2

(A) i IE TR

(B) E &1.3R. FgHT

(C) SEmeTd Ha&

(D) WER FeoTHIE Ueet
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45.

46.

Match List — | with List — Il and
choose the correct answer from the
codes given below :

List— 1 List— 11
Books Authors

a. Dalit Visions : i. ZoyaHasan
The  Anti-Caste
Movement  and
the Construction
of Indian Identity

b. Peasant i V.
Movements in Venkatesan
India

c. Foreign Identities, iii. Gail
Gender Omvedt
Communities and
the State (Ed.)

d. Institutionalising  iv. D.N.
Panchayati Raj in Dhanagre
India

Codes :

a b c d

(A i i v i

B) i v i ii

(S i v

D) v i i il

Consider the following statements

about Civil Service in a developing

society :

1. It should act as an instrument of
change.

2. It should have concern for social
equity.

3. It should have common concern
for vested interests.

4. It should be politically neutral.

Select the correct statements from the
codes given below :

(A) 1,2,3and4 (B) 1,3and4
(C©) 1,2and4 (D) 2,3and4
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47.

48.

49.

50.

Match List — | with List — Il and
choose the correct answer from the
codes given below :

List-1 List— 11
a. Span of attention i. Mooney
and Reiley
b. Scalar process ii. F.W. Taylor
c. Human Relations iii. V.A.
Theory Graicunas
d. Functional iv. Elton Mayo
Foremanship
Codes :
a b c d
(A) il v i i
(B) iii i iv i
(©) i i iv i
(D) i i i v

Which one of the following was not
included as a principle of
administration by Willoughby in his
‘Principles of Public Administration’ ?

(A) General and overhead
administration

(B) Coordination

(C) Finance

(D) Personnel administration

The principle of unity of command
mainly ensures

(A) Accountability
(B) Specialization
(C) Acceptability
(D) Coordination

Which one of the following is not one
of the main characteristics of Taylor’s
scientific management ?

(A) Time and motion studies

(B) Participation in decision making
(C) Differential piece-rate system
(D) Functional foremanship

D-02-12



45, gl B G-Il & G gaferd B AR

T 158 e | T 3T H T
-1 -1
(T&Th) (eTE®)
a. Sfcr fafs - &1 0. ST Eed
Tl HRe Jar<
TS 3 LR
3 ST
amgetal

b e EHeE T i, Al gweEd
HERI

C. ®RT eMEefeem™, i, TioT SfHEe
S FIFET
uUg & ¥ (Uf)

d. SEIGIETRTT v, S, g
TR ST 3
e

HE
a b c d

(A i i v

B) i v i i

€ i i i v

O) v i i il

46. Tomaeicr Ta § fafaet der & aR A
frfataa et w foam &
1. 30 9Redq &% U % ®q A fHA
HAT A |

2. 9HISTeh 9T & o g9 TR
T e |

3. Tfed @t * o e wEtw
THR BT A1 |

4. T oIS €9 F 928 e A |

e 158 el | Tel 3T H TI A

(A) 1,2, 334

(B) 1,334

(C) 1,234

(D) 2,334

D-02-12
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47. g1 B - % qd gHferd B 3R

48.

49.

50.

T 52 et ¥ T IR F FIH N
-1 -1
a. FF A Hfa@R Q. T e
b. #oft wfskan ii. THTE] R
C. HME Ty iii. 9T oA
g
d. TR BREAT v, Toed "l
afshar
FE:
a b c d
(A Qi v i i
B) i i iv i
©) i i v i
o) i i i v

Ufecteh TSR’ H U & [GaT &
w9 4 f=faiaa § @ @i a1 ginferd 7@
fopam T & 9

(A)  THRT ST TRIE
(B) ww==

(C) fom

(D) BRCRIESERNIKE]

3T & Uehdl g gega: Hetarad
ol GArad I 8 2

(A) SR

(B) faferetapor

(C) wfshrar

(D) H=a

R & A Ty Ht gieF forerarsti o
T U FettEd B & ®iF 9 @ g 2

(A) THI qAT T T
(B) foia o= & wriery
(C) Toviseh SRl e
(D) WM HIREA!
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51.

52.

53.

54,

55.

56.

Who among the following has called
Weber’s ideal type of bureaucracy as
unsuitable for developing societies ?
(A) H.Simon

(B) Chester I. Barnard

(C) Fred W. Riggs

(D) Dwight Waldo

The Committee on Assurances of the
Parliament of India is an instrument of
(A) Executive Control

(B) Judicial Control

(C) Civil-Society Control

(D) Legislative Control

According to Herbert Simon, if a
decision is  directed towards
individual’s goal, it is

(A) Organizationally rational

(B) Personally rational

(C) Objectively rational

(D) Subjectively rational

The most logical criterion to
distinguish a line function from staff is
(A) the functional relationship

(B) the authority relationship

(C) the grouping of functions

(D) the departmentalization

Central Vigilance Commission was set

up on the recommendations of

(A) First Administrative
Commission

(B) Gorwala Committee Report

(C) Kiripalani Committee Report

(D) Santhanam Committee Report

The Lokpal and Lokayukta Bill 1968

passed by the Lok Sabha lapsed

because

(A) Rajya Sabha rejected the Bill

(B) President withheld the Bill

(C) Joint Committee of the two
Houses rejected the Bill

(D)

of early Dissolution of Fourth
Lok Sabha

Reforms

Paper-I111
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57.

58.

59.

60.

Which one of the following
committee’s report  said  that
Community Development Programme
and National Extension Service had
failed to evoke popular enthusiasm ?
(A) Sarkaria Committee Report

(B) L.M. Singhvi Committee Report
(C) G.V.K.Rao Committee Report
(D) Balwant Rai Mehta Committee

Report

Which one of the following was not
included by C. Rajagopalachari in the
list of six fundamental requirements of
a good administrator ?

(A) Character

(B) Capacity to judge matters

(C) Expertise in technical matters
(D) Firmness in decision making

Santhanam Committee on Prevention
of Corruption was appointed in
(A) 1961 (B) 1962
(C) 1963 (D) 1964

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : Practical application of
unity of command is not always

possible.
Reason (R) Technical and
administrative  tasks  require

different kinds of supervision.
Select the correct answer from the
codes given below :
(A) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A).
Both (A) and (R) are individually
true, but (R) is not the correct
explanation of (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true.

(B)

(©)
(D)
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51.

52.

53.

54,

55.

56.

FSR H Y THR B AR B
foraeiict @Ot & fod oruged
frfefaa o & forem s € 2

(A) TE. T

(B) X IME. TS

(C) e T, forw

(D) <@ At

YR GG I LG T STHT &
(A) TR T =T
(B) =tges FE=or

o

(C) Tafaet wamT Faw=oT

(D) ST =T

T WEHH & SFER AR @ HoE
JafeRTeR 329 i 3R Fise & @ ag erar &
(A) TATHS €9 T T

(B) =AfRTTd ®9 F T

(C) =T &9 | A

(D) 7T ®9 F T

AR IR WIE B H 3T HA B
At dlfcher ATIRUS 7T € 2

(A) TS Try

(B) 3MUeR Ty

FRT Fashar AT fRgel faERer w
TTfUe g3 T 2

(A) TIH TRIEA ER ST

(B) TIR@TeT HES RUiE

(C) FueTH HHS RS

(D) T HHS Rae

RIS 3 SATheRT a1 1968 5 w1k

[T A IR R, o Rk e T it

(A) 5T T A T [/E G |

(B) gl A TV ek fora |

(C) =i &l = G @l I T
TR Y 32T |

(D) =qF T H TEAEY ¥ e
1T B % HROT |

D-02-12

57,

58.

59.

60.

fr=feifaa wafeat 7 ¥ g Foer = Rae
T FE T A T AHieE o iy
3R T TR Tal &Aleh 3cdTE bl STTH
H o | 2

(A) TR HHeT e

(B) TUwuH. Faeet Huer e

(C) e, e Hoer Ruie

(D) SoTad T Hedl RSt Rare

T, TSR §RT U 375 T99e &
T oA STUMS ® Gl kI
frefataa & 9 forg afmferd =&t fomam mn 2
(A) 3TER

(B) TTHG i 3T 1 AT

(C) dh-int AHeH H forerorsmar

(D) Toig o= § ferar

g faro & fou Tomg w9 &5
T foh 99 €8 2

(A) 1961
(B) 1962
(C) 1963
(D) 1964

sifeiiad 3 o & 99 ¥ e @i
MIHAT (A) 3R TE T Th (R) FeT T
T

AWHYT (A) : 3R_A H THE H
AR TN Fse TG Tél g |
FHRUT(R)  : TR TE YRS H
% T =1 TR o1 qaeTor ey |

TS P W el ST BT TG T

(A) (A) 3R (R) T T&l € 3 (A) H
(R) & T T |

(B) (A) #HR (R) I Wel €, W (A) H
(R) Te&! T T & |

(C) (A) W&, T (R) T & |
(D) (A) ToE &, W (R) Tl & |
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61.

62.

63.

What is neo-realism ?

(A) An attempt to ignore the
unpleasant realities of the world.

An attempt to restate the basic
ideas of realism in a more
‘scientific’ form.

A claim that international society
is basically orderly and peaceful.

A claim that individual human

(B)

(©)

(D)

nature is

politics.

central to an
understanding of

international

Match List — | with List — Il and select
the correct answer from the codes

below :
List—1 List— 11
(Author) (Book)

a. Hedley Bull I. Failed States
b. Noam ii. Conflict and
Chomsky Defense
c. Robert Kaplan iii. Anarchial

Society
d. Kenneth iv. Monsoon
Boulding
Codes :
a b c d
(A) i iv i
B) i il iV
© i iv o i
(D) v i T

Arrange the following international
politics theorists in a chronological
order from the codes given below :

(i) Reinhold Niebuhr

(i)  Immanuel Kant

(iii) Antonio Gramsci

(iv) Robert W. Cox

Codes :

(A) (i), (iv), (i), (i1)

(B)  (iv), (i), (i), (iii)

(€ (), (i), (iii), (iv)

(D) (i), (iii), (i), (iv)
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64.

65.

66.

67.

What does RMA stand for ?

(A) Revolution in Martial Affairs

(B) Revolution in Military Affairs

(C) Referendum in Military Affairs

(D) Raison d’etat in Mass
Administration

What does Raison d’etat mean ?

(A) The national interest

(B) The State ought to act reasonably
at all times.

Citizens need to be given very
good reasons for obeying the
State.

Citizens should consume as
many raisins as possible for a
good and healthy life.

(©)

(D)

Why is reform of the Security Council
problematic ?
(A) Enlarging the

could

permanent

membership
decision making.

impair

(B) None of the existing permanent
members are keen to give up
their seats.

(C) 1t is difficult to make an
uncontroversial case for any of
the potential new permanent
members.

(D) All of the above.

Structural adjustment  programmes

require that

(A) Governments of poor countries
should adopt privatization and
other “liberalizing” measures.

(B) States with weak economies
should redistribute more
resources to the poor.

(C) Governments of poor countries
should knock down all ugly or
dilapidated buildings.

(D) Ministers in under-performing

countries should go on diets and
keep fit.
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61.

62.

63.

ol FATAAE T E 2

(A) Tova =t 1M ardfaehdret s Suet
HET |

(B) TeMaTg Yol fa=RERT & St
“IRE" T T G HT T

(C) ¥ Trar fof STeRICIT THNT Hord:
gegafed R wmfanm ¥ |

(D) ¥E e T AT AW @
SR TSI GHeH o fow

T T |

G-l B GE-l & T gaferd Y 31T
T ST T et H H el R H AT
-1 -1
(*TE) (TT6)

a. gt g i hog WH
b. et <Eh! ii. P Us
e
iii. TATRIA
I IEC]
iv. HHEET

c. JEe e

d. e aifesT
FE:

a b c d
(A) i i iv i
B) i il i iv
< i iv i i
(D) iv i i iii

IBLSIGIER) IR SEIRED
TagTanteal i HATER e &Y ;
(i) eoe feg

(i) == T

(iii) w=itE

(iv) e Ty, P

A

(A) (i), (iv), (i), (ii)

(B) (iv), (i), (i), (iii)

(€) (), (i), (iii), (iv)

(D) (i), (iii), (i), (iv)
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64.

65.

66.

67.

RMA (IRUAT,) ¥ =T g & 2
(A) ey 3 ARfe Tk

(B) Tareae™ 37 ffeiedt o1
(C) Ty 37 fuferedt shad
(D) I T 3T T U USHHEIH

T S 20T W T AW € 2

(A) A feq

(B) T~ I Gd 3fiaeaqul alich & S
FAT AT |

ANTRERT T ToT 3T T B &
fore 3fad RO ST ST =T |
AR ot I AR WS S &
T gumyg fReTaen &1 39ET
FAT AT |

TRET IS § R AT GHET0T T ¢ 2

(A) TEl g5 & R & SR
fota &= o e g |

(B) wIE Wt =M W I AU U
P B F T Tl &l & |

(C) fordl off Tty AU wmEl 9@ &
EWWWW

|

(D) Sugs |t |

HCEHTCHe THIEIST ST i STUeT gidr
Aca

(A) TRa 3T B THRT H SR
qAT 3T ITRAQ! ST Bl YA
e |

FAAR el & T i
TG ht SITRT FHTEA YA e
qME |

TS S 1 TRBRT Hl T TEGA
qT SO0l TARGET @l dig oA T
qMES |

3Teq oI aret <91 Wl 92T 3TER
TR & 3R AgeEd T&T amed |

(©)
(D)

(B)

(©)

(D)
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68.

69.

70.

71.

Bandung Conference held in 1955 had
the participation of representatives
from

(A)
(B)
(©)
(D)

Twenty two Asian countries
Eighty Afro-Asian countries
Twenty six African countries
Twenty nine Afro-Asian countries

Who said, “Thus far the chief purpose
of our military establishment has been
to win wars. From now on its chief
purpose must be to avert them.” ?

(A) Paul Nitze

(B) George Kennan
(C) Bernard Brodie
(D) Robert Jervis

Arrange the following treaties and
agreements in a chronological order.
Select the answer from the codes given
below :

(i)  Indo-US Nuclear Treaty

(i) Indo-Soviet Friendship Treaty
(iii) Tashkent Agreement

(iv) Shimla Agreement

Codes :

(A) (i), (i), (iv), (i)

(B) (i), iii), (i), (iv)

(€ (@), (iv), (i), (i)

(D) (iv), (i), (iii), (i)

Expand SORT.

(A) Strategic Offensive Reduction
Treaty

(B) State Organization Replan Treaty

(C) Strategic Order Reorganization
Treaty

(D) Security Organization Replan
Treaty

72,

73.

74.

75.
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Which of the following statements are

correct ?

1. India has signed the NPT.

2. China has not signed the NPT.

3.  India and Pakistan have not
signed the NPT,

4. NPT has been signed by Iran,

North Korea.

All are correct.

All are false.

3 & 4 are correct.

1 & 2 are correct.

(A)
(B)
(©)
(D)
Identify which of the following are

correct statements :
(1) India is a member of the Indian

Ocean Rim Association for
Regional Cooperation [IOR-
ARC].

(i) [IOR-ARC] helps better relations
with Pakistan.

@iii) 1t defines the
Economic Zones.

(iv) Indian Ocean has no sea piracy.

Codes :

(A) (i) and (ii) are correct.

(B) (iii) and (iv) are correct.

(C) (i) and (iii) are correct.

(D) (i) and (iv) are correct.

The Axis of evil is a phrase
deliberately used by President George
W. Bush in January 2002 to
characterize

(A) Iran, North Korea and Iraq

(B) Taliban, Al-Queda and LeT

(C) Cuba, Venezuela, Nicaragua

(D) Pakistan, Afghanistan, Sri Lanka

Martin ~ Wight emphasized three

philosophical traditions of

International politics, they are

(A) Realism, Liberalism, Marxism

(B) Realism, Rationalism,
Revolutionism

(C) Radicalism, Realism, Religion

(D) Neo-Realism, Neo-Liberalism,

Constructivism

Exclusive
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68.

69.

70.

71.

ag 1955 H o ST uRug H
frafefaa & 9 feas ufdtkEr 3 am
foram ar 2

(A) == TREE S

(B) 31T STmITch-ufvEmt 39T |

(C) BT 3ThIH! 3T |

(D) 3= 3TwhiTeh-Tfvmamr <91 |

“3T9 T EURT Qi TG BT & 3299
g ST W@ 8 | 379 W A TF i
T AT N |7 AT TR e €

(A) e fest
(B) St
(C) =TS sret
(D) & SRfaq

TeAteiad |t 3R Iueiiar & SFHTaR
ZEhd Y | A T W ®ie § 3T H
T R |

(i) 9RA-g TF AW iy

(i) RA-GifeRa T afg

(iii)  TTeThT TR

(iv) Teren wwsiar

BT

(A) (i), (i), (iv), (i)

(B) (i), (iii), (i), (iv)

(€) (), (iv), (i), (iii)

(D) (iv), (i), (iii), (ii)

Tg.37. 32, (SORT) i forgd &9 a1
(A) TS ki ™ 2t

(B) ¥ RS R et

(C) wfeer et Reiiamesiem 2t
(D) TaRer stmresem e et

72,

73.

74,

75.
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Trfetiad & 9 i a1 AT G € 2

1.  9Ra F A (NPT) W e&meR
e |

2. 99 7 A (NPT) W &&mRR
T fmu € |

3. 9Rd AR WikEH F TAWE.
(NPT) W &R Tal fohu & |

4.  wAGA (NPT) W RE, 71 Hifkar
T EEIRR T E |

(A) T T T |

(B) Wi oA & |

(C) 33R4TE |

(D) 13R2T&E |

fefefad o & i 9 afivheT Tel ¢ 9

(i) 9Ra IS H-ARIHE & fow
geom ofivH W wHitAuIE
T & | (3L, 3. 3R-TARAL) |

(i) 1OR-ARC (37,37 3R.-U. 3T 4.

IR & Y 3T T T

X T T8 HAT € |

Tg favie e &t bt uRed

FATE |

fomg TR ® SToT S T ¥ |

(iii)

(iv)

CAER

(A) (i) =R (ii) W€ |

(B) (iii) 3 (iv) Rq%“r% |

(©) () 3R (iii) W ¥ |

(D) (ii) 3 (iv) T & |

TE H G TH 3R & TG @ =

TH F S T, I A 2002 H THTH

Y A & AT fepam &1 2

(A) T, ST HIRAT 3R RH

(B) dfeia, STeThrEaT 3 &< (LeT)

(C) oM, SISae, e

(D) IR, STHMIFAH, Siicieht

e a2 3 RIeg ToMa @l di

T TR W e fear g 19 e

(A) FEETE, I/RATE, HFIER

(B) IUATR, JrEAT, AR

(C) fqars, =g, ad

(D) TA-FAIAE, T9-ITRAT,
TS
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